Reading comprehension

OECD announced the results of PISA.

Reading comprehension of Japanese 1st grade high school students are poor.

The score is 15th,

2012 4th — 2015 8th — 2018 15th

All papers show this results and cause.

One cause is the lack of media literacy, so MEXT must deploy one PC per a student.
Other cause is the lack of reading books and using smartphone and teacher’s hard
working.

When I read papers, I think that all intelligent person said what they want.

What makes the low score of Japanese high school students?

I think that PC don’t solve this issue.

To solve the many problems of scholar ship test is not perfect studying.

Teachers must teach students with well-balanced of reading, writing, talking,

listening.
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